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1	Introduction
Regarding the interaction between the LCH-based and PHY-based prioritization configuration has been widely discussed in the past several meetings, and some agreements have been achieved as follows:
	Send an LS to R1 informing on R2 agreements and the current gap, we explain the solutions on the table and we ask R1 for feedback (quick).
R2 assumes that PHY-based prioritization and LCH-based prioritization are configured independently and one can be configured without the other (assumption may be modified when LS reply from R1 is received)
FFS how to address the scenario where PHY layer of a UE which is not configured to perform PHY-based prioritization, receives from MAC layer two MAC PDUs related to overlapping grants.



Considering the issue on the intra-UE prioritization with uplink grants overlapping in time, there still exists a gap between RAN1 and RAN2. The intention of this contribution is to further discuss the remaining issues on intra-UE prioritization, which involves the inconsistencies between LCH-based prioritization and PHY-based prioritization. 
2	Discussion
For the case when the uplink grants overlapping in time (i.e., dynamic grant vs. configured grant, and configured grant v.s. configured grant), RAN2 has agreed that the prioiritization in MAC is determined by the highest priority of the logical channel (LCH) that can be multiplexed in the grant, as well as considering the LCH restriction and data availability. One the other hand, RAN1 has specified that PHY priority is determined by the L1 priority of a grant. 
Since there are 16 LCH priority levels from MAC perspective and only 2 PHY priority levels from PHY perspective, it is inevitable that there exist inconsistencies between LCH-based prioritization and PHY-based prioritization. For example, MAC delivers two MAC PDUs for the two conflicting grants to PHYsequentially, where the conflicting grants have the same L1 priority, and the data in the second PDU has higher LCH priority. If the first PDU is from dynamic grant and the second PDU is from configured grant, PHY may not transmit the second PDU as the dynamic grant would always prioritize the configured grant from the PHY perspective. Therefore, there exists a gap between RAN1 and RAN2 that needs to be resolved. 
In order to address this issue, RAN2 has concluded two possible options and asks RAN1 to provide feedback on preference between them [1]:
1. RAN2 changes MAC specification to accommodate current PHY behaviour. With this option, MAC will avoid providing second MAC PDU with the same L1 priority to PHY, meaning that PHY would transmit the packet with lower LCH priority data. 
2. RAN1 changes PHY specification to accommodate current MAC behaviour of prioritizing the second MAC PDU provided from MAC. 
The feedback from RAN1 is shown as follows： RAN2 changes MAC specification to accommodate current PHY behavior. With this option, MAC will avoid providing  second MAC PDU with the same L1 priority to PHY, meaning that PHY would transmit the packet with lower LCH priority data.
Given that the scenario with two overlapping grants of the same L1 priority is corner case and much RAN1 specification impact in Option2, from the perspective of RAN1, the Option1 seems relateively suitable, which means that MAC should avoid providing the second MAC PDU with the same L1 priority to PHY.
Observation: To resolve the inconsistency between LCH-based prioritization and PHY-based prioritization, MAC should avoid providing the second MAC PDU with the same L1 priority to PHY. 
Taken into account that RAN1 prefers no change in specification, the action of the PHY layer to handle the overlapping MAC PDU with the same L1 priority will be fully left to UE implementation, i.e. Rel-15 behaviors. For instance, the PHY may finally transmit the MAC PDU for a grant that should be deprioritized by the MAC, and discards the MAC PDU for a grant that should be prioritized. 
Therefore, it is necessary to resolve it from the RAN2 side. Specifically, some changes in MAC specification are needed, such as adding a note to specify that a second MAC PDU should not be generated if there is already an overlapping MAC PDU in processing with the same L1 priority. In other words, the note shown below indicates that due to the ongoing transmission of lower priority data, the MAC entity will not generate a MAC PDU for higher priority data. 
NOTE: An uplink grant, which cannot be transmitted in PHY due to overlapping with another ongoing transmission, is considered as a de-prioritized uplink grant.
[bookmark: _GoBack]Proposal: Given that LCH-based and PHY-based prioritization inconsistency cannot be resolved in Rel-16, it is proposed to add a note in TS38.321 to indicate that the uplink grant not transmitted in PHY should not be considered as a prioritized grant.
3	Conclusions
The paper discusses the approaches to resolve the inconsistencies between RAN1 and RAN2 on intra-UE prioritization, and the observation and proposal are given as below.
Observation: To resolve the inconsistency between LCH-based prioritization and PHY-based prioritization, MAC should avoid providing the second MAC PDU with the same L1 priority to PHY.

Proposal: Given that LCH-based and PHY-based prioritization inconsistency cannot be resolved in Rel-16, it is proposed to add a note in TS38.321 to indicate that the uplink grant not transmitted in PHY should not be considered as a prioritized grant.
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